MATH 2060 TuTo4

16. LetI C R be an open interval, let f : I — R be differentiable on 7, and suppose f”(a) exists at
a € 1. Show that

() — i @) =26 (@) fa = h).

h—0 h2

Give an example where this limit exists, but the function does not have a second derivative at a.
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Un 647 (Neton's Method )
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22. The equation In x = x — 2 has two solutions. Approximate them using Newton’s Method. What
happens if x; := % is the initial point?
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22. The equation In x = x — 2 has two solutions. Approximate them using Newton’s Method. What
happens if x; := % is the initial point?
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22. The equation In x = x — 2 has two solutions. Approximate them using Newton’s Method. What

. happens if x; := % is the initial point?
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3. Show thatf : [@, b| — R is Riemann integrable on [a, b] if and only if there exists L € R such

that for every ¢ > 0 there exists 8, > 0 such that if P is any tagged partition with norm (%7
||P|| < 8., then [S(f; P) — L| <.

P‘F 7 qu'rom féﬂab] WUrite L= _(4“
}Z7 o(e,F . d J)L >0 (1
Y fmﬁ:% artition aa ]0 LQLJ ulﬂ\ If”< &,,
ISP -L|< 4
Take J’t-/ {; /> (>0) .

flon ¥ g e Pof [abd itk IFl<g/,

Lef Ltyo0.

e have (”<Sﬁ; and A
/Y(F,‘F)fLI < 9
= ISP -L] <4
Lo by,
fa fosa_ () “J! £/7'7D

Thew 2 LeR ot \/- (>0 2de 50 st
V iyl FWM Pof Las) uith IPll<fO '
1f P)-Ll< 2
fo Viso, adyso 1 |
Y 1. wfition Fo [ a,b) Lr3ﬂ\ ”ﬂ = (7
MISF(%(’)/ jl < tho<z
ﬂu; «F ¢ K[a,L] ,

s

A\



5. Let P:= {(I;,t;)}._, be a tagged partition of [a, b] and let ¢; < c,.
(a) If ubelongs to a subinterval /; whose tag satisfies ¢ < #; < ¢, show that ¢; — ||73|| <u<
& + [Pl | |
(b) If v € [a, b] and satisfies ¢; + ||P|| < v < ¢z — ||P|l, then the tag #; of any subinterval I,
that contains v satisfies #; € [c1, ¢].
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